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3 545 12 143 233 3933 90.1%
795 3 22 31 851 93.4%
1007 5 13 62 1087 92.6%
960 2 83 33 1078 89.1%
644 4 19 55 722 89.2%
831 3 22 56 912 91.1%
989 1 42 87 1119 88.4%
1175 4 147 163 1489 78.9%
1185 1 34 90 1310 90.5%
835 4 73 54 966 86.4%
2127 1 236 108 2472 86.0%
1787 3 236 179 2 205 81.0%
3949 43 1205 148 5 345 73.9%
1495 1 756 191 2443 61.2%
726 4 182 79 991 73.3%
569 0 27 71 667 85.3%
850 0 11 14 875 97.1%
408 0 29 100 537 76.0%
386 5 124 13 528 73.1%
1221 0 43 85 1349 90.5%
833 0 23 65 921 90.4%
1693 11 251 258 2213 76.5%
2739 7 283 194 3223 85.0%
1152 2 114 88 1356 85.0%
606 0 70 58 734 82.6%
669 7 190 58 924 72.4%
1530 0 877 198 2 605 58.7%
1864 3 308 105 2 280 81.8%
537 0 40 38 615 87.3%
483 0 18 20 521 92.7%
273 0 3 10 286 95.5%
220 1 6 19 246 89.4%
963 2 147 87 1199 80.3%
928 3 65 128 1124 82.6%
453 1 53 198 705 64.3%
201 1 12 38 342 85.1%
447 3 26 37 513 87.1%
554 5 29 109 697 79.5%
169 0 8 19 196 86.2%
1292 4 231 156 1683 76.8%
227 0 8 29 264 86.0%
415 0 34 20 469 88.5%
545 0 33 19 597 91.3%
387 5 29 62 483 80.1%
315 0 29 35 379 83.1%
355 0 20 16 391 90.8%
167 0 23 20 210 79.5%
45591 151 6 377 3 936] 56055 81.3%
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(1)

2t/h 2 35t/h 35 490t/h | 490t/h
1992 15,167 1,304 51 5
1993 14,976 1,161 43 2
1994 14,784 1,361 19 10
1995 15,033 1,329 42 4
1996 14,277 1,642 21 14
1997 13,864 1,764 44 9
1998 12,318 1,720 51 16
1999 12,129 1,534 26 22
2000 12,315 1,973 21 7
2001 12,240 1,869 24 6
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" 355 [MJ/L] 411 [MJIINM?]
K 33 [ /L] 65 100 [ /Nm?
09 [ /MI] | 1.6 24 [ /MJ]
*1A 39.1MJ/L 21.2 MJ/L
*2 A 30 /L 45 /L
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